

## Nevjabai Bhaiya Hitkarini Education Society's **Nevjabai Hitkarini College, Bramhapuri** Dist. Chandrapur, (M.S.)-441206 Affiliated to Gondwana University, Gadchiroli Re-Accredited By NAAC B++ (2.87 CGPA)

# Annual Quality Assurance Report AQAR: 2023-24

#### CRITERIA – IV

INFRASTRUCTURE AND LEARNING RESOURCES 2023-202<u>4</u>

## Metric Number: 4.1.4

<u>Metric Name</u>: Th The Institution has adequate infrastructure and physical facilities for teaching- learning. viz., classrooms, laboratories, computing equipment etc.

## Principal

Nevjabai Hitkarini College Bramhapuri



Email: <u>nhcbramhapuri@rediffmail.com</u> Web: nhcb.in/ Phone:07177273293

# Built Up Area of the College

Sr. No.	Description	Total Area (Sq. Feet)	Total Area (Sq. Meter)	Total Area (Sq. Feet)	Total Area (Sq. Meter)
1	Old Building	36141.2	3357.63		
2	MCVC Building	4026.62	374.09		Nana
3	New Building	54785.87	5089.77		
4	Library Building	24028.68	2232.34	-	
5	Boys Hostel	10021.78	931.05	164775.69	15308.16
6	Indoor Stadium	9462.28	879.07		
7	Girls Hostel	19796	1839.11		
8	Phy. Edu. Building	3090.86	287.15		
9	Guest House	3422.4	317.95		



PRÍNCIPAL Nevjabai Hitkarini College Bramhapuri Dist Charidrapur-441206

## Various Laboratories Area in the College

Sr. No.	Lab	Lab. No.	Description	Dimension (Feet)	Area (Sq. feet)	Total Area (Sq. feet)
	Elm's a	1	UG Lab I	35.33 × 22.33	788.91	2 . E
	1	2	UG Lab II	30.50 × 22.33	681.06	
	1979 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1999 - 1979 -	4	Dark Room	22.33 × 18.16	405.51	
	St		PG Lab I	15.50 × 14.50	224.75	
1	Physics	6	PG Lab II	26.66 × 22.33	595.31	3352.24
		7	Research Lab I	12 × 7.66	91.92	
		8	Research Lab II	22.33 × 11	245.63	t t t t
		9	Central Inst. Room	25.25 × 7.50	189.37	
		10	Head & Staff Room	14.42 × 9	129.78	
		1	UG Lab I	30 × 22.15	664.5	
		2	UG Lab II	38.40 × 22.15	850.56	
		4	Balance Room	22.15 × 9.25	204.88	
		5	PG Lab I	23.00 × 21.00	483	
		6	PG Lab II	23.00 × 21.00	483	
2	Chemistry	7	Soil Analysis Lab	26.25 × 9.50	249.37	3977.81
		8	Store Room I	18.00 × 11.00	198	
		10	Gas Room	27.23 × 11.81	321.58	
		11	Head & Staff Room	18.00 × 10.66	191.88	
		12	Reading Room	11.81 × 9.51	112.31	
		13	PG Store Room I	23.00 × 9.51	218.73	
		1	UG Lab I	35.42 × 22.33	790.92	
		3	PG Lab I	21.25 × 21.25	425	
		4	PG Lab II	31.92 × 20	678.3	]
3	Botany	5	Research Lab I (Tissue Culture Lab)	21.25 × 19	403.75	2983.9
		6	Research Lab II	21.25 × 9.92	210.8	1
		7	Museum	21.25 × 10.33	219.51	1
			Head & Staff Room	21.25 × 10	212.5	1
		9	Store Room	7.50 × 5.75	43.12	1
		1	UG Lab I	35 × 22.15	775.25	
		3	PG Lab I	22.15 × 17.22	381.42	1
4	Zoology	4	PG Lab II	22.15 × 17.22	381.42	
-4	Zoology	5	Head & Staff Room	14.60 × 11	160.6	2225.53
		6	Dark Room	11.00 × 8.20	90.2	-
		7	Central Research	21.92 × 19.92	436.64	

Sr. No.	Lab	Lab. No.	Description	Dimension (Feet)	Area (Sq. feet)	Total Area (Sq. feet)
		1	UG Lab	34.58 × 21.92	757.99	
5	Electronics	2	Store Room	16.83 × 9.83	165.43	1113.77
		3	Head & Staff Room	16.92 × 11.25	190.35	
	1000	1	UG Lab I	28.33 × 20	566.6	
6	Comp. Sci	2	UG Lab II	29.75 × 20.00	595	1324.56
5		3	Staff Room	13.58 × 12	162.96	
		1	UG Lab	25.00 × 21.92	548	
7	Microbiology	2	Culture Lab	10.67 × 8.25	88.02	726.23
		3	Staff Room	10.83 × 8.33	90.21	

TOTAL AREA ( Sq. feet)

15704.04



PRINCIPAL Nevjabai Hitkarini College Bramhapuri Dist Chandrapur 441206

C. M.			D:				T + 1 A - (S = Faat)
51. INO.	Room No.	Description	Dime	ntion	(Feet)	Area (Sq. Feet)	Total Area (Sq. Feet)
1		East Veranda	169.41	Х	8.5	1439.99	
2		West Veranda	217	X	8.5	1844.50	
3		North Veranda	148.58	x	8.5	1262.93	
4	۲۹۰۰ - ۲۹۰۱	Waiting Lounge	20	Х	10.41	208.20	
5		Toilet	14.41	X	6.41	92.37	
6	e er <sup>a</sup> . Pe	Principal Waiting Lounge	20	X	14.75	295.00	9302.24
7	heithe 312	Principal Office	20	Х	14.75	295.00	1 1 1 1 4 W.
8		Principal Guest Room	22.67	X	12.5	283.38	
9	a <sup>ara</sup> tik	Principal Office Toilet	12.5	X	10.5	131.25	
10	Room. A	Administrative Block	25	Х	20	500.00	
11	Room. B	Administrative Block	40.25	X	12.33	496.28	
12	Room C	Store Room	20	Х	15	300	
13	Room 3	Girls Common Room	22	X	20	440	
14		Girls Toilet	34	Х	14.66	498.44	
15	·	Back Entrance	25	Х	24.25	606.25	
16		Society office	26	X	23.41	608.66	

## **Old Building Ground Floor**

0	e sense i ser acces	and the second second second	<b>Old Buil</b>	ding	First Flo	or	
Sr. No.	Room No.	Description	3		n (Feet)	Area (Sq. Feet)	Total Area (Sq. Feet)
1	an an an ann an an an an an an an an an	East Veranda	179.33	X	8.5	1524.31	
2	and a second start	West Veranda	193.91	X	8.5	1648.24	
3	en e	North Veranda	156.75	Х	8.5	1332.38	
4	Room. 25	Room No. 1	47	х	22.08	1037.76	
5	Romm. No. 26,27	Room No. 2	41.17	X	22.08	909.03	
6	Room. 28	Room No. 3	25	X	22.08	552.00	
7	Room. 29	Room No. 4	34.58	X	22.08	763.53	11134.92
8	Room. 30	Room No. 5	35	X	22.08	772.80	
9	Room. 32	Room No. 6	41.67	Х	21	875.07	
	Room. 32A	Room No. 7	24.75	X	12.75	315.56	
11	Room. 36	Room No. 8	25.83	Х	23.33	602.61	
12	ion C.A.	Maths Veranda	19.66	Х	14.33	281.7278	
13	Room 35A	Room No. 9	18.33	Х	17.33	317.6589	
14		Staff Room Maths	25.83	X	7.83	202.2489	

## **Old Building First Floor**

Total Area of Old Building

36141.20

(Class Rooms +Office + Laboratories)



PRÍNCIPAL Nevjabai Hitkarini College Bramhapuri Dist Ghandrapur 441206

2

11

		New E	bununig	Dasci	nent rico	the second second	
Sr. No.	. Room No.	Description	Dime	ention	(Feet)	Area (Sq. Feet)	Total Area (Sq. Feet)
1	°a ne∧ -	Boys Toilet	24.83	X	7.5	186.23	
2	Room G04	Room No. 1	30	X	24.83	744.90	
3	Room G05	Room No. 2	30	x	24.83	744.90	
4	Room G06	Home Eco PG. LabI	31.67	Х	24.67	781.30	
5	Room G 06 A	Staff Room	21.4	Х	6.5	139.10	
6	Room G07	Lab II (F & C)	29.75	х	25	743.75	
7	Room G08	Lab T & C	29.75	Х	25	743.75	11202.98
8	Room G09	Girls Common Room	30.75	x	13.58	417.59	
9	en fri Seati o in	Veranda North	61.25	Х	7.5	459.38	
10		Veranda East	62.33	Х	6	373.98	
11	** *** *** * *	Veranda South	51.5	Х	6	309.00	• 3
12	Room G10	2	30	Х	24.83	744.9	
13	Room G11	ne galan mentak nin Negeri - Negri Kon	30	X	24.83	744.9	
14	Room G01	James d'Aberra augus base	43.08	X	24.83	1069.6764	
15		Veranda Vest	82.66	Х	13	1074.58	
16	Room G01		42.67	Х	20	853.4	
17	Room G03	9 4 2 1 73 3 81 1996 - 10 - 19	43.16	Х	24.83	1071.6628	1

#### **New Building Basement Floor**



PRINCIPAL Nevjaba: Hitkarini College Bramhapuri Dist. Charlorapur-441206

	New Building Ground Floor												
Sr. No.	Room No.	Description	Dime	ention	(Feet)	Area (Sq. Feet)	Total Area (Sq. Feet)						
1		Entrance Veranda	57	Х	19.83	1130.31							
2		West Veranda	56.67	X	18.33	1038.76							
3	Room 101	Room 1	43.25	X	24.83	1073.90							
4	Room 102	Boys Toilet	24.83	X	7.5	186.23							
5	Room 103		30	Х	24.83	744.90							
6	Room 104		30	х	24.83	744.90							
7		North Veranda	83.58	Х	6	501.48	11236.23						
8	Room 105	NCC Office	31.83	Х	24.83	790.34							
9	Room 106	Staff Room	30	Х	24.83	744.90							
10		East Veranda	58.25	Х	6	349.50							
11	Room 107	NSS Office	24.83	Х	19.67	488.41							
12	Room 108	Girls Common Room	30.75	Х	13.58	417.585							
13	· .	South Veranda	51.67	Х	6	310.02	1 2 2						
14	Room 109		30	х	24.83	744.9							
15	Room 110	Exam Room	30	х	24.83	744.9							
16	Room 111	Director Office	32.92	x	21.08	693.9536							
17	Room 112	P. G. Office	25	х	21.25	531.25							

**New Building Ground Floor** 



PRINCIPAL Nevjabai Hitkarini College Bramhapuri Dist Chandrapur 441206

Sr. 1	No.	Room No.	Description	Dime		(Feet)	Area (Sq. Feet)	Total Area (Sq. Feet)
1			West Veranda	56.67	х	18.33	1038.76	
2	2	Room 201	Physics Lab	43.33	Х	24.92	1079.78	
3	3	Room 202	Boys Toilet	24.83	Х	7.5	186.23	
2	1	Room 203	$\hat{v}^{2} = \hat{v}^{2} \hat{\eta} = -\frac{1}{12} \hat{\hat{\eta}}_{\mu\nu}^{2} + \frac{1}{2} \hat{\hat{\sigma}}^{2} \hat{v}_{\mu\nu} \hat{\eta},$	30	Х	24.83	744.90	
4	5	Room 204	j., rokati (j.	30	Х	24.83	744.90	
(	6	× .* ≓∿	North Veranda	51.75	Х	6	310.50	
	7	n estati da 📘	Botany Lab	31.58	Х	24.66	778.76	$(w) \in \mathbb{R}^{2}(\mathbb{R})$
8	8	-	Zoology Lab	37.58	X	24.25	911.32	10462.00
9	9		Chemistry Lab	44.3	Х	24.93	1104.40	
1	0		Gas Room	23.95	Х	6	143.70	
1	1	- 14 M.	East Veranda	57.92	Х	6	347.52	
1	2		South Veranda	51.75	Х	6	310.5	
1	3		Conference Hall	61	х	24.83	1514.63	
1	4	Room 211	Commerce Lab	33.5	х	21.33	714.555	
1	5	Room 212	Coomerce Head & Staff Room	24.92	X	21.33	531.5436	

**New Building First Floor** 



PRINCIPAL

Nevjabai Hitkarini College Bramhapur, Dist Chandrapur 441206

		Ne	w Buildi	ng Se	conu ru	)01	
Sr. No	. Room No.	Description	Dime	ntion	(Feet)	Area (Sq. Feet)	Total Area (Sq. Feet)
1	-1. Becks	West Veranda	56.67	X	18.33	1038.76	
2	Alandara. 1	Head & Staff Room (Geography)	25	Х	19.92	498.00	
3		U. G. Lab - (Geo)	43.25	Х	24.83	1073.90	
4	n a state and a	P. G. Lab (Geo)	38.25	х	24.83	949.75	
5		Department Of English	30	X	24.83	744.90	
6	B. Com. II 300	ा र सामग्रेक करने करी में	31.58	x	24.83	784.13	-
7	Room. 301		27.25	Х	24.83	676.62	10939.88
8	л — 1 1 — 1 — 1 — 1 — 1 — 1	NCC Girls Office	29.83	Х	24.83	740.68	
9	na an index for a	North Veranda	51.75	Х	6	310.50	
10		East Veranda	82.83	Х	6	496.98	
11	Room 302	M. Com. II	24.83	х	23.83	591.70	j.
12		South Veranda	51.75	Х	6	310.5	
13	Room 303	ala anna a ta	30	х	24.83	744.9	
14	Room 304	and the state of the	30	x	24.83	744.9	
15	Room 305	DP = 3±3 and the second	33.33	X	21.25	708.2625	
16		IQAC - Office	24.83	х	21.16	525.4028	

#### New Building Second Floor

March Contractory

a 🐴 🗄 🔬



PRINCIPAL Nevjabai Hitkarini College Bramhaburi Dist Chandrapur-441206

_	New Building Third Floor													
Sr.	No.	Room No.	Description	Dime	ntion	(Feet)	Area (Sq. Feet)	Total Area (Sq. Feet)						
-	1	14° 14° 14	West Veranda	56.67	x	18.33	1038.76							
4	2		Library SBMM	53.5	X	24.83	1328.41	Sec. 9						
	3	Room. 401	an a	38.25	X	24.83	949.75							
	4	Room. 402	· · · · · · · · · · · ·	30.33	X	24.83	753.09	e de la de la perior d						
	5		North Veranda	51.75	X	6	310.50							
	6	Room 403	на положи и положи 1964 години и Положини	31.66	Х	24.83	786.12							
	7	Room 404		27.25	Х	24.83	676.62	10944.79						
	8	Room 405	u Aliman an Carl An 13	29.83	Х	24.83	740.68							
	9	Room 406		24.83	Х	23.83	591.70							
	10		East Veranda	82.83	X	6	496.98							
	11		South Veranda	51.75	X	6	310.50							
-	12	Room 407	n - staten erdane	30	х	24.83	744.9							
	13	Room 408	alaa ahaa ahaa kaana ahaa ahaana ahaa ahaa	30	x	24.83	744.9	5 283						
-	14	Room 409	ye i i indiata hay a reat	32.92	x	21.08	693.9536							
	15	Room 410	SBBM Office	25	X	21.25	531.25							
	16	alaa kaan k	Office Veranda	25.75	x	9.58	246.685							

#### New Building Third Floor

Total Area of New Building

54785.87

PRINCIPAL Nevjabai Hitkarini College Bramhapuri Dist Criundrapur 441206

Sr. No.	Room No.	Description	Dimention (Feet)			Area (Sq. Feet)	Total Area (Sq. Feet)
1		Reading Room	49.33	х	29.83	1471.51	n i∎ <sup>a</sup> rt
2		Library	66.33	Х	46.58	3089.65	
3		Store Room	11.75	Х	14.5	170.38	5008.70
4		Xerox & Stationary Center	23.75	X	11.67	277.16	
37							

#### Library Building

#### Auditorium Building

#### **Ground Floor**

1	1 <sup>-1</sup>	Auditorium	129.25	Х	50	6462.50	
2		Toilet Area Auditorium	41	Х	22.42	919.22	
3	देखाः । मुल्लाम् स	East Veranda (Tin Shade)	175		55	9625.00	17006.72
					_		

#### **First Floor**

1	· L	Room 1	30.33	X	20.5	621.77	
2		Toilet Area	41	Х	22.42	919.22	
3	81 	Room 2	20.17	Х	12.25	247.08	
4		Room 3	20.17	Х	12.25	247.08	
5		Room 4	19.58	Х	12.25	239.86	3422.40
6		Room 5	19.58	Х	12.25	239.86	
7	~	Room 6	25.42	X	12.25	311.40	
8		Room 7	25.42	Х	12.25	311.40	
9		Passage	67	Х	4.25	284.75	
				-			

#### Canteen

1	Canteen Hall	40.25	Х	39.67	1596.72	
2	Canteen Kitchen	39.67	X	10.5	416.54	2013.25



- EATTO-
P

Total Area of Library

27451.08

PRÍNCIPAL Nevjabai Hitkarini College

3